50.

Let f(x) be a polynomial of degree 4 having extreme values

atx=1andx=2.1f lim [ﬂ *) J 3 then f(—1) isequal

x—0
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(d) - f(x)hasextremum valuesatx=1andx=2

wf(1)=0andf(2)=0
As, f(x) is a polynomial of degree 4.
Suppose f(x) = Ax* + Bx* + Cx> + Dx + E

lim f(f)+1]=3

=0 x

. A+ B+ O’ + Dx+ E
= lim +11|=3

x—0 .1‘2

= lim Ax2+Bx+C+£+£2+l]=3
x—0 X X

As limit has finite value, soD=0and E=0

Now A(0P+ B+ C+0+0+1=3

=c+1=3 =¢=2

f(x)=44x*+3Bx*+2Cx+ D

f(1)=0 = 44(1)+3B(1)+2C(1)+D=0

= 44+3B=-4 ()
1(2)=0 = 44(8)+3B(@)+2C(2)+ D=0
= 84+3B=-2 ..(ii)

From equations (1) and (ii), we get

A=land8=—2
2

So, f(x)= % _2x + 202

Therefore f(—])—( ::) —2(- 1P +2(-1)

9.IrIena::e:,;’(—])=2

+242=2
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